Sumar Decimales (H)

Halle cada suma

1,539 +3,331 = 96,93 + 7,812 =
391,8 + 17,09 = 7130 + 629,6 =
4,751 +0,6354 = 9,532 +0,3707 =
891,1 +0,1644 = 0,3839 + 772.8 =
15,16 +791,2 = 666,3 + 5845 =
9020 + 680,6 = 0,765 + 638,8 =
4685 + 4,082 = 2,626 + 9,062 =
7155 + 18,08 = 941,3 + 84,44 =
0,363 +422,9 = 0,2269 + 43,68 =
422 + 20,65 = 4814 + 5,484 =
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Sumar Decimales (H) Respuestas

1,539 + 3,331 = 4,87

391,8 + 17,09 = 408,89

4,751 +0,6354 = 5,3864

891,1 +0,1644 = 891,2644

15,16 +791,2 = 806,36

9020 + 680,6 = 9700,6

4685 + 4,082 = 4689,082

7155+ 18,08 =7173,08

0,363 +422,9 =423,263

422 + 20,65 = 442,65

Halle cada suma

96,93 + 7,812 = 104,742

7130 + 629,6 = 7759,6

9,532 +0,3707 = 9,9027

0,3839 +772,8 =773,1839

666,3 + 5845 =6511,3

0,765 + 638,8 = 639,565

2,626 + 9,062 = 11,688

941,3 + 84,44 = 1025,74

0,2269 + 43,68 = 43,9069

4814 + 5,484 = 4819,484
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